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Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
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Note : Draw diagrams and write equations wherever necessary.
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Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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When ethyl iodide is treated with dry silver oxide it forms :
(a) Diethyl ether (b)  Ethyl methyl ether
(c)  Ethyl alcohol (d) Silver ethoxide
e SV JES NLOg XU T et U CCl,
5enp (b) JI# (a)
S (d) 50ep bk (Q)
Decomposition of nitrogen pentoxide N,O5 in CCl, is a reaction.
(a) Sequential (b)  First order
(c) Pseudo first order (d) Parallel

<ol 7#ly 4L Zn/NaOH

CeHs—NH—-NH-CHs (b) CeHs—N=N-CiHs (a)
C6H5 —N=N- C6H5
(d) CcHsNHOH (o)
@)
Nitrobenzene on reduction with Zn/NaOH gives :
(C) C6H5NHOH (d) C6H5 —N=N- C6H5
O

L SR TE,
Ss8” (b) St ()

S ot (d) A

The Geometry of IF, molecule :
(a) Square pyramidal (b) Trigonal bipyramidal
() Octahedral (d) Pentagonal bipyramidal
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CH,COCH; (d) HCHO (o) CO, (b) CH;CHO  (a)

From which of the following one, tertiary butyl alcohol is obtained by the action of
methyl magnesium iodide ?

(a) CH,CHO (b) CO, (¢) HCHO (d) CH,COCH,
St stbd e 2P 6
G-C¢ () G-CG (9 C-C4 (b) -G (a)

Sucrose contains glucose and fructose linked by :

(@) C;—C¢ b C,-C 0 C-GC, d < -C

: (KJJGU’)J—L?&(L(L/ 7
w+PAV  (d) w—PAV (¢ —w—PAV  (b) —w+PAV  (a)
The net work done by the system is :

(a) —w+PAV (b) —w-—PAV (c) w-—PAV (d) w+PAV

¢ ISt dits 8

70
~N=N- (d) >C=0 (o) -NIJ ) ~OH (a)
Which one of the following is not a Chromophore ?
_O
(@@ —-OH (b) _N\‘O (g >C=0 (d —-N=N-
[ gtg‘ / Turn over A
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(V) (i) (d) i) () (iv) ! (iii)  (b) (iii) (i) (a)

Consider the following statements :

(i) The sun is giving out energy equally in all possible directions at the rate of
3.7 %1030 ergs/sec.

(i) ¢C'" radio isotope of carbon is formed in the upper atmosphere from cosmic rays.

(iii) New element/isotope may be produced during the nuclear reaction.

(iv) When energy is absorbed, the Q value of nuclear reaction will be negative.

Which of the above statements are correct ?

(@) (i)and (i) (b)) (i)and(@v)  (¢) (i) and (ii) (d) (i) and (iv)
L & Ind f3t

Slzedl F2 @)

Ardde (i S )

A (i SRy )

3 (iv JUE @)

1)-@), (2)-(iv), (3)-(iii), (4)-(i)) ~ (a
1)-(iv), (2)-(iii), (3)-(ii), (4)-()  (®
)-(ii), (2)-(iv), (3)-(1), (4)-(iii
)~(

- )
| 1)-(i), (2)-(3), (3)-(iv), (4)-(i)
Match the following :

(1) Brass (i)  Surgical instruments
(2) Stellite (i) Skin ointment

(3) Lunar caustic (iii) Condenser tubes

(4) Calamine (iv) Hair dye

(a) (1)), (2-(iv), ()-(i), (@)-)

(b)  (D)-(iv), (2)-(iii), (3)-(i), (4)-(1)

(@ (@)-@G), (2)-@v), (3)-@), (4)-(id)

(d) (@)-@id), (2)-@), (3)-(v), (4)-(iD)

10
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The metals near the bottom of the electrochemical series are :
(a) Weak reducing agents (b) Weak oxidising agents
(c) Strong oxidising agents (d) Strong reducing agents

Dtz Xp >> Xg A-B o2 12

dbs  (b) Qi (@
LA @) G ©
When X, >> X, A—B bond is :
(@) Ionic (b) Metallic
(c) Polar covalent (d) Non-polar covalent
e dnebfunided 13
UG (b) S (a)
@ S ()
State of chemical equilibrium is :
(a) irreversible (b) stationary and irreversible
(c) dynamic (d) stationary

5 [FeFd- 14

1.73BM  (d) 283BM (o) 592BM (b) 490BM (a)
The magnetic moment of [FeF6]4_ ion :
(a) 4.90 BM (b) 5.92 BM (c) 2.83 BM (d) 1.73 BM

: &K’JJJ&}“}” 15

ohmm (d) ohm=Im-1 () ohm=1m2 (b) ohm~-1 (a)
Unit of specific conductance :
(a) ohm~! (b) ohm~!m?2 (c) ohm~Im~! (d) ohmm
[ gtg‘ / Turn over A



1326 (NP) 6

PART - 11/ II-&J4

6x2=12 e G028 At Zoi2l g (e Ut 0

Answer any six questions and Question No. 24 is Compulsory.

¢ ‘agn}‘l}’»C/’Jﬁt'?ﬁ*?’tyd}ﬁfgﬁéa/k&&'@

How Ionisation energy of an atom is affected by nuclear charge ?

Nl e FS i GH

Write about the oxidation state of actinides.

¢ < U KUIERIUE el Sd TGt Uy

What is the role of radioactive isotopes in the mechanism of photosynthesis in
plants ?

¢ el

What is a vitreous state ?

¢ b Y H1 £, AL

What is the action of conc. HI with glucose ?

-é}ﬁf’d@)b]boj‘»éiuﬁz L(p W/O . O/W
Give two examples of emulsifying agents for O/W and W/O type of emulsions.

RS % Y S PRy

What is glycerose ? How is it obtained ?

‘."&UJW'KJD;lg&VJJg;/"%

Draw the structure of urotropine and write its use.

16

A7

18

19

20

21

22

23
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ui’d' B 245 J' By
Consider the potential energy diagrams of reactions (I) and (II) given below, predict
which reaction will go faster and why ?

Threshold energy E, = activation energy

Threshold energy

@) Energy (1) Energy

Reaction co-ordinates Reaction co-ordinates

PART - I / IIT-2.§
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Answer any six questions and Question no. 33 is Compulsory.

Qearey o28) F=174ev Pl ofrbei (s Syl e L2
= 0 F=3.62eV / 120

Calculate the electronegativity value of fluorine on Mulliken’s Scale, given that
Ionisation potential of F=17.4 eV/atom

Electron affinity of F=3.62 eV /atom

[ gtg‘ / Turn over
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Write any three differences between lanthanides and actinides.

L PO UAL a5 B sl o S F oPb8 (oo Th2?

Calculate the number of o and B particles emitted in the conversion of ¢, Th?32 to ¢,Pb?%8.

¢ ‘Lgbf{)’lpgf@

What is Reaction Quotient ?

N AN

Write any three characteristics of dyes.

_é@"}( emf (/> d/Llauj

Define standard emf of a cell.

b ¢ e
What is racemic mixture ? Give example.

&L Sal A8 Ay SIS U 2L ) 2l I L3

Draw the structure of Fructose. Mention the number of Chiral Carbon atoms and
number of optical isomers present in it.

Lt 35°C 2 25°C o NSl B E e e /100K SeadASUesT
- Ky 4 35°C sl Ky 2P L8 27 25°C Al

The activation energy of a certain reaction is 100 kJ/mole. What is the change in the
rate constant of the reaction if the temperature is changed from 25°C to 35°C ? Let the

rate constants at 25°C be K, and at 35°C be K, respectively.

.26

27

28

29

31

32
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Answer all the questions.

D e Ul U3t () (@) 34
XeE, (D) C10; © N0; (B) CO, (A)
et e € Lo (i)
[’
¢ YSinoub (i) (b)
e E S i (i)
(@ (@) Mention the hybridisation in the following molecules and ions :

(A) CO, B NO, (O CO, (D) XeF,

(i) Write Heisenberg’s uncertainty principle.
OR
(b) (i) What is inert pair effect ?

(i) Mention any three uses of silicones.

- 0P e B [Sc(H0) Pt L ik [TiHO) P+ () (@) .35
Ay S (G

L
¢ uggau,}‘édmﬁf&@f/@ﬁbz/j/; (b)

(@) () [TiHO)?* is coloured while [Sc(H,0)(]** is colourless. Explain.
(i) Write a note on Chrome plating.
OR
(b) What are the postulates of Werner’s theory of Co-ordination Compounds ?

[ gtg‘ / Turn over
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(a) (i) Explain molecular crystals.
(if) Write any six characteristics of ionic compounds.
OR

(b) Derive the relation between Kp and K_ for a general chemical equilibrium reaction.

DG bRl 0i2 S5 B e (1) (a)

e (B) zx (A)
,é)J@f‘"£U¢jug{ﬂ)d&,f (ii)
|

SV () (b)
41K sy 05 M UGy pH KU 184 x10-5 < K, €421 ksy (i)

¢ ﬂ.."f,,f'g;}{ﬁ:f/ 0.5 M.

(@) (i) Mention the dispersed phase and dispersion medium present in the
following colloids.

(A) Paint (B) Froths of air
(i) Write short notes on Catalytic poison. Give example.
OR
(b) (i) What is a buffer solution ?

(i) The K, of propionic acid is 1.84x107°. What is the pH of a solution
containing 0.5 M propionic acid and 0.5 M sodium propionate ?

.36

37
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A

=3

(@) (i) How will you distinguish primary, secondary and tertiary alcohol by Lucas
Test ?

(i) What happens when anisole is nitrated ?
OR
(b) (i) Explain the reducing property of formic acid.

(i) Aniline reacts with Chloroform and alcoholic KOH and gives an offensive
smelling liquid as a product. Write the reaction for it.
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